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1.  :5ก����
,��*=-B93&75
�123
���	8
<�	8:5+�&H<I�J<��ก��
��	
����ก��+�9��+123ก��
��	

ก��+3
45*<�กA*ก��,�.��
,��*=-ก;3
45*=5��ก��<.53� 

2.  :5ก����
,��*=-B93&75
�123=���*+�<I�K��B3��7�488ก��
��	
�79488:+&:+�
.9�	
ก��
��	
�79�;�&ก�

��
<�&  
�123���
�<�กA*ก��,�.��
,��*=- 

3.  :5ก����
,��*=-B93&75ก��ก��4+.�33กC
ก��
��	
�79�;�&ก�

��
<�& 
4.  :5ก����
,��*=-B93&75,��&,�.
=E
B3�
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�79
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��
<�&  
�123���
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,��*=- 
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�7�488ก��
��	
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<�&  
�123���
�<�กA*ก��,�.��
,��*=- M.	:79
��2	���F 
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������ 1  ��ก
������������ ��ก
����!���� ���"��"
����!ก
����!�����#��ก$���%����  

�&'��&$(�
�$ก)�ก
��
��
���
��� 
 1.  :5ก����
,��*=-B93&75
�123
���	8
<�	8,*4

:5+�&H<I�J<��ก��
��	
����ก��+�9��+123
ก��
��	
ก��+3
45*<�กA*ก��,�.��
,��*=-ก;3
45*=5��ก��<.53�.9�	,;�+(�'�  ,;�
Q5�2	
5B,N�' 
( x )   +;�

8�2	�
8
&�'�R�
 (S.D.) 45*<.+38,��&4'ก';��B3�,*4

.9�	ก��<.+38,;�<�    
(t T test  dependent)  .��
�� 
 

'����<�2 4.1  4+.�ก����
,��*=-
���	8
<�	8,*4

:5+�&H<I�J<��ก��
��	
45*<�กA*ก��,�.
��
,��*=-ก;3
45*=5��ก��<.53�C�9�7�488ก��
��	
�79488:+&:+�
.9�	ก��
��	
�79
�;�&ก�

��
<�& 

 

ก��<.53� ,*4


'E& n x  S.D. t Sig 
ก;3
 

 
=5�� 

100 
 

100 

30 
 

30 

59.72 
 

80.77 

5.72 
 

6.86 

 
39.73 

 
0.00 

 
 ��ก'����<�2 4.1  �8�;�,*4

:5+�&H<I�J<��ก��
��	
45*<�กA*ก��,�.��
,��*=-ก;3
45*
=5��ก��<.53�C�9�7�488ก��
��	
�79488:+&:+�
.9�	ก��
��	
�79�;�&ก�

��
<�&4'ก';��ก�
  M.	
,*4


Q5�2	=5��ก��<.53�C�9�7�488ก��
��	
�79488:+&:+�
 ( x = 80.77) +7�ก�;�ก;3
ก��
<.53� ( x = 59.17) 3	;��&�
�	+6�,�F<��+(�'�<�2�*.�8 .01 
 2.  :5ก����
,��*=-B93&75
�123=���*+�<I�K��B3��7�488ก��
��	
�79488:+&:+�
.9�	
ก��
��	
�79�;�&ก�

��
<�&  
�123���
�<�กA*ก��,�.��
,��*=-  ��ก:5��&
Q5�2	B3�,*4

ก��<6�
488]̂ก=�.�*=�;��
��	
45*,*4


Q5�2	B3�:5��&B3�,*4

ก��<6�488<.+38=5��
��	
 (E1 / E2 ) 
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'����<�2 4.2  4+.�,;���*+�<I�K��B3�ก��
��	
�79488:+&:+�
.9�	ก��
��	
�79�;�&ก�

��
<�& 

�123���
�<�กA*ก��,�.��
,��*=-����ก��+�9��+123ก��
��	
ก��+3
  
�123�<�2  1 
,��&=&�	  ,)N+&8�'� ,)N,;�B3�+123ก��
��	
ก��+3
 

 

�6�
�
:79
��	
 
(30 ,
) 

,*4

ก��ก��&�*=�;��
��	
 
( 30  ,*4

 ) 

,*4

ก��ก��&=5��
��	
 
(20  ,*4

 ) 

��& 750 497 
,;�
Q5�2	 25 16.56 

,;�
Q5�2	�93	5* 83.33 82.80 
,;���*+�<I�K�� E1 = 83 E2 = 82 

 
 ��ก'����<�2  4.2  �8�;�,*4

�*=�;��
��	
C
ก��
��	
�79����ก��+�9��+123ก��
��	
ก��+3
  

�123�<�2  1  ,��&=&�	  ,)N+&8�'�  ,)N,;�B3�+123ก��
��	
ก��+3
  ,�.
��
,;�
Q5�2	�93	5*  83.33  
45*,*4

<.+38=5��
��	

Q5�2	�93	5*  82.80  &�,;���*+�<I�K��  (E1 / E2 )  =  83 / 83 
 
'����<�2  4.3  4+.�,;���*+�<I�K��B3�ก��
��	
�79488:+&:+�
.9�	ก��
��	
�79�;�&ก�

��
<�&  


�123���
�<�กA*ก��,�.��
,��*=-  ����ก��+�9��+123ก��
��	
ก��+3
  
�123�<�2  2  
��*
K<B3�+123ก��
��	
ก��+3
 

 

�6�
�
:79
��	
 
(30 ,
) 

,*4

ก��ก��&�*=�;��
��	
 
( 30  ,*4

 ) 

,*4

ก��ก��&=5��
��	
 
(20  ,*4

 ) 

��& 730 480 
,;�
Q5�2	 24.33 16.00 

,;�
Q5�2	�93	5* 81.11 80.00 
,;���*+�<I�K�� E1 = 81 E2 = 80 

 
��ก'����<�2  4.3  �8�;�,*4

�*=�;��
��	
C
ก��
��	
�79����ก��+�9��+123ก��
��	
ก��+3
  


�123�<�2  2  ��*
K<B3�+123ก��
��	
ก��+3
  ,�.
��
,;�
Q5�2	�93	5*  81.11  45*,*4

<.+38
=5��
��	

Q5�2	�93	5*  80.00  &�,;���*+�<I�K��  (E1 / E2 )  =  81 / 80 
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'����<�2  4.4  4+.�,;���*+�<I�K��B3�ก��
��	
�79488:+&:+�
.9�	ก��
��	
�79�;�&ก�

��
<�&  

�123���
�<�กA*ก��,�.��
,��*=-  ����ก��+�9��+123ก��
��	
ก��+3
  
�123�<�2   3 
=5�กก��
513ก+123ก��
��	
ก��+3
 

 

�6�
�
:79
��	
 
(30 ,
) 

,*4

ก��ก��&�*=�;��
��	
 
( 30  ,*4

 ) 

,*4

ก��ก��&=5��
��	
 
(20  ,*4

 ) 

��& 744 480 
,;�
Q5�2	 24.80 16.00 

,;�
Q5�2	�93	5* 82.66 80.00 
,;���*+�<I�K�� E1 = 83 E2 = 80 

 
��ก'����<�2  4.4  �8�;�,*4

�*=�;��
��	
C
ก��
��	
�79����ก��+�9��+123ก��
��	
ก��+3
  


�123�<�2  3  =5�กก��
513ก+123ก��
��	
ก��+3
  ,�.
��
,;�
Q5�2	�93	5*  82.66  45*,*4

<.+38
=5��
��	

Q5�2	�93	5*  80.00  &�,;���*+�<I�K��  (E1 / E2 )  =  83 / 80 

 
'����<�2  4.5  4+.�,;���*+�<I�K��B3�ก��
��	
�79488:+&:+�
.9�	ก��
��	
�79�;�&ก�

��
<�&  


�123���
�<�กA*ก��,�.��
,��*=-  ����ก��+�9��+123ก�
��	
ก��+3
  
�123�<�2  4  B93.�
45*B93�6�ก�.B3�+123ก��
��	
ก��+3
 

 

�6�
�
:79
��	
 
(30 ,
) 

,*4

ก��ก��&�*=�;��
��	
 
( 30  ,*4

 ) 

,*4

ก��ก��&=5��
��	
 
(20  ,*4

 ) 

��& 745 490 
,;�
Q5�2	 24.83 16.33 

,;�
Q5�2	�93	5* 82.78 81.66 
,;���*+�<I�K�� E1 = 83 E2 = 82 

 
��ก'����<�2  4.5  �8�;�,*4

�*=�;��
��	
C
ก��
��	
�79����ก��+�9��+123ก��
��	
ก��+3
  


�123�<�2  4  B93.�45*B93�6�ก�.B3�+123ก��
��	
ก��+3
  ,�.
��
,;�
Q5�2	�93	5*  82.78  45*,*4


<.+38=5��
��	

Q5�2	�93	5*  81.66  &�,;���*+�<I�K��  (E1 / E2 )  =  83 / 82 
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'����<�2  4.6  4+.�,;���*+�<I�K��B3�ก��
��	
�79488:+&:+�
.9�	ก��
��	
�79�;�&ก�

��
<�&  

�123���
�<�กA*ก��,�.��
,��*=-  ����ก��+�9��+123ก�
��	
ก��+3
  
�123�<�2  5  
��'��<	�<�2
ก�2	�B93�ก�8+123ก��
��	
ก��+3
 

 

�6�
�
:79
��	
 
(30 ,
) 

,*4

ก��ก��&�*=�;��
��	
 
( 30  ,*4

 ) 

,*4

ก��ก��&=5��
��	
 
(20  ,*4

 ) 

��& 736 481 
,;�
Q5�2	 24.53 16.03 

,;�
Q5�2	�93	5* 81.77 80.15 
,;���*+�<I�K�� E1 = 82 E2 = 80 

 
��ก'����<�2  4.6  �8�;�,*4

�*=�;��
��	
C
ก��
��	
�79����ก��+�9��+123ก��
��	
ก��+3
  


�123�<�2  5  ��'��<	�<�2
ก�2	�B93�ก�8+123ก��
��	
ก��+3
  ,�.
��
,;�
Q5�2	�93	5*  81.77  45*,*4


<.+38=5��
��	

Q5�2	�93	5*  80.15  &�,;���*+�<I�K��  (E1 / E2 )  =  82 / 80 

+�)�O.9�;�ก��
��	
�79488:+&:+�
.9�	ก��
��	
�79�;�&ก�

��
<�&  
�123���
�<�กA*ก��,�.
��
,��*=-  <���  5  
�123�B3���	����ก��+�9��+123ก��
��	
ก��+3
  &�,;���*+�<I�K�� (E1 / E2 )  +7�
ก�;�  80 / 80   
 3.  :5ก����
,��*=-B93&75ก��4+.�33กC
ก��
��	
�79�;�&ก�

��
<�&  ก��4+.�B93&75C

+;�

��4+.�B93&75
��
��	ก5);&  �6�
�
  5  ก5);&  B93,6�(�&C
ก����*
&�
<���=&.&�  15  B93  ,�.

��
 30 ,*4

  :79
��	

��
:79��*
&�
'

3�45*+&���กC
ก5);&��&  6  ,
  ,�.
��
  180  ,*4

  
<6�ก����*
&�
  3  ,����  ,*4

C
ก5);&�@�,�.
��
  540  ,*4

  ,*4


Q5�2	B3�ก5);&
<;�ก�8  36  
,*4

  (9���
,��*=-��	B93B3�ก5);&4';5*,����
<;�ก�8  12  ,*4

 <6�ก����*
&�
  3  ,����  ��&
��
  
36  ,*4
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'����<�2 4.7  4+.�,;�
Q5�2	B3�,*4

ก��4+.�33กC
ก��
��	
�79�;�&ก�

��
<�& 
 

�
!ก
������
� 
( x ) 

(36) 
 

(S.D.) 
���$���
�

���
�"� 

��
��$��
���� 21.3 3.11 ��
ก5�� 

  1.  
'��	&,��&��93&ก;3
ก��
��	

��
<�& 23.2 1.93 ��
ก5�� 
  2.  �a�8�'�=
9�<�2'�&<�2O.9��8&38=&�	3	;��
3�C�C+; 19.6 0.54 ��
ก5�� 
  3.C=9,��&�;�&&13<)ก�7�488
�123C=9��

+�E�<�

�5� 21.0 1.00 ��
ก5�� 
ก
������
��#�!���'�"�
�
ก����� 21.9 0.36 ��
ก5�� 
  4. C=9ก��4
*
6�+&���กC
ก��C�9
,�123�&13';�� b 
�;
 e-mail, webboard, chatroom, 
weblog, facebook 

24.6 0.89 &�ก 

  5. ��@กA�=��13ก�8+&���ก8

�E8=�13�8ก�
M.	'��
�123C=9
ก�.ก��
��	
�79�;�&ก�

��
<�& 25.2 0.44 &�ก 
  6. �;�	
=513<�& C
ก��<6�ก��ก��&45*ก��,9
=�B93&75<���8

�E845*C
=93�
��	
�ก'� 20.4 1.14 ��
ก5�� 
  7. C=9B93&7545*B93
+
34
*<�2
��
��*M	�
-';3<�& 21.2 1.64 ��
ก5�� 
  8. C=9ก6�5��C�45*�;�&&13
��	
�79ก�8<�&3	;��&�,��&+)B 20.0 1.22 ��
ก5�� 
  9. �;�&�7.,)	 45ก
�5�2	
,��&,�.
=E
ก�8+&���ก+&26�
+&3 22.0 0.70 ��
ก5�� 
  10. &�+;�
�;�	C
ก��.6�

�
��
B3�<�&C=9��8�12
 19.8 1.48 ��
ก5�� 

ก
� "����
��
���1������ 20.6 2.77 ��
ก5�� 

  11.  
+
3,��&,�.
=E
';3<�& 20.4 1.14 ��
ก5�� 
  12.  4+.�,��&,�.
=E
.9�	,��&+)K�� &�,��&����C�C
ก��4ก9�iF=� 20.8 1.64 ��
ก5�� 

ก
�!���$���
��
���1����"�
�
ก2
!����� 21.3 1.41 ��
ก5�� 

  13.  	3&��8B93'ก5�'�&
+�	�+;�
C=F;B3�<�& 25.2 1.30 &�ก 
  14.  	3&��8,��&,�.
=E
B3�+&���กC
<�&  
&123+&���ก�;�&<�&&�ก��3K����	 19.2 0.83 ��
ก5�� 
 15.  B3,��&,�.
=E
��ก+&���ก�;�&<�&  
&123&�B93+�+�	 19.6 1.14 ��
ก5�� 


Q5�2	 21.5 0.45 ��
ก5�� 

 
 ��ก'����<�2  4.7  4+.��;�ก5);&'��3	;��&�ก��4+.�33ก�*.�8&�กC
ก��4
*
6�+&���กC

ก��C�9
,�123�&13';�� b (24.6) ��@กA�=��13ก�8+&���ก8

�E8=�13ก���8ก�
M.	'��
�123C=9
ก�.
,��&
B9�C�'��ก�
C
ก��
��	
�79�;�&ก�
 (25.2 )  45*ก��	3&��8B93'ก5�'�&
+�	�+;�
C=F;B3�<�& 
(25.2 ) +;�
ก��4+.�33ก
3ก��ก
��3	7;C
�*.�8��
ก5��  =�ก�����N�M.	��&C
  4  .9�
  ,13  
,��&��8:�.�38';3��
B3�<�& ( 21.3 )  ก��C=9,��&�;�	
=513+&���กC
<�&  ( 21.9 )  ก��4+.�
,��&,�.
=E
C
<�&  ( 20.3 ) ก��	3&��8,��&,�.
=E
B3�+&���กK�	C
<�&  ( 21.3 ) �8�;�3	7;C

�*.�8��
ก5��<)ก.9�
  45*<)กก5);&&�ก��4+.�33กC
ก��
��	
�793	7;C
�*.�8��
ก5�� 
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 4.  :5ก����
,��*=-B93&75,��&,�.
=E
B3�
�ก?@กA�ก5);&'��3	;��<�2&�';3�7�488ก��
��	
�79
488:+&:+�
.9�	ก��
��	
�79
��
<�& 

  ก����
,��*=-,��&,�.
=E
B3�
�ก?@กA�ก5);&'��3	;��<�2&�';3�7�488ก��
��	
�79488
:+&:+�
.9�	ก��
��	
�79�;�&ก�

��
<�&  .9�	,;�
Q5�2	
5B,N�'45*+;�

8�2	�
8
&�'�R�
45*ก��
4�5,��&=&�	 
 
'����<�2  4.8  4+.�,*4


Q5�2	 +;�

8�2	�
8
&�'�R�
  45*ก��4�5,��&=&�	B3�,*4

,��&,�.
=E


B3�
�ก?@กA�ก5);&'��3	;��<�2&�';3�7�488ก��
��	
�79488:+&:+�
.9�	ก��
��	
�79�;�&ก�


��
<�&  
�123���
�<�กA*ก��,�.��
,��*=-  ,����<�2  1  45*,����<�2  2  B��
ก��
��	
ก��+3
 

 
�
!ก
������
� x  S.D. ���$���
����
�"� 

  1.  ก��5�<*
8�	

B9��;�&ก��ก��& / ��8
3ก+�� 3.96 0.85 &�ก 
  2.  ก��<.+38ก;3

��	
 3.36 0.32 ��
ก5�� 
  3.  ก���R&
�
<? 3.66 0.76 &�ก 
  4.  ก��<.53�C�9
,�123�&13C
ก��'�.';3+123+�� 3.66 0.76 &�ก 
  5.  ก��48;�ก5);&:79
��	

��
<�&<�&5*  6  ,
 3.80 0.92 &�ก 
  6.  ก����.ก��ก��&ก�*8�
ก��ก5);& 3.36 0.32 ��
ก5�� 
  7.  ก��+&�,�
B9�C�9M��4ก�& 3.63 0.71 &�ก 
  8..  ก��+
<
�45*3K����	 3.63 0.71 &�ก 

 
 ��ก'����<�2 4.8  ก5);&'��3	;��&�,��&,�.
=E
';3�7�488ก��
��	
�79488:+&:+�
.9�	ก��

��	
�79�;�&ก�

��
<�&  
�123���
�<�กA*ก��,�.��
,��*=-�;�&�,��&
=&�*+&3	7;C
�*.�8&�ก  3  
3�
.�84�ก  O.94ก;  ก��5�<*
8�	

B9��;�&ก��ก��& / ��8
3ก+��  ( x = 3.96)  ก��48;�ก5);&:79
��	


��
<�& <�&5*  6  ,
  ( x = 3.80)  ก���R&
�
<?45*ก��<.53�C�9
,�123�&13C
ก��'�.';3+123+��
( x = 3.66)    +;�
ก��<.+38ก;3

��	
45*��.ก��ก��&ก�*8�
ก��ก5);&  &�,��&
=&�*+&3	7;C

�*.�8��
ก5��  ( x = 3.36)   
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'����<�2  4.9  4+.�,*4


Q5�2	 +;�

8�2	�
8
&�'�R�
  45*ก��4�5,��&=&�	B3�,*4


,��&,�.
=E
B3�
�ก?@กA�ก5);&'��3	;��<�2&�';3�7�488ก��
��	
�79488:+&:+�
.9�	
ก��
��	
�79�;�&ก�

��
<�&  
�123���
�<�กA*ก��,�.��
,��*=-  B��
ก��
��	
ก��+3
 

�123�<�2 1  ,��&=&�	  ,)N+&8�'�  ,)N,;�B3�+123ก��
��	
ก��+3
 

 

��	ก����*
&�
 x  S.D. 
�*.�8 

,��&
=&�*+& 
  1.  ก��
B9�+7;8<
��	
.9�	+123&�5'�&�
.�	C
=93�
��	
�ก'�
45*8

�E8 

3.73 0.78 &�ก 

  2.  ก��?@กA�

1�3=�����ก��+�9��+123ก��
��	
ก��+3
C


3ก+��45*8

�E8 

3.10 0.66 ��
ก5�� 

  3.  ก��,9
=�8

,�13B;�	45*(;�	M3
4jk&B93&75M.	
ก��?@กA�45*��&��8

1�3=�<�2
ก�2	�B93���ก
�E8';�� b 45*

�123&M	� '�.';3 
��2&
'�& 

3.50 0.77 &�ก 

  4.   ก��<6�488]̂ก=�.<9�	8<
��	
M.	ก��+
<
� 
3K����	 45ก
�5�2 	

��	
�79ก�8+&���กK�	C
<�&C

=93�
��	
�ก'�45*8

�E8 : chatroom webboard , weblog , 
facebook 

3.50 0.77 &�ก 

  5.  ก��+�)�

1�3=�
�123
6�&�33ก488+123ก��
6�
+
3 2.90 0.40 ��
ก5�� 
  6.  ก��33ก488+123
6�
+
3 3.80 0.92 &�ก 
  7.  ก�����4:

6�
+
3�;�&ก�

��
<�&   3.73 0.78 &�ก 

 
 ��ก'����<�2 4.9  ก5);&'��3	;��&�,��&,�.
=E
';3�7�488ก��
��	
�79488:+&:+�
.9�	ก��

��	
�79�;�&ก�

��
<�&  
�123���
�<�กA*ก��,�.��
,��*=-�;�&�,��&
=&�*+&3	7;C
�*.�8&�ก  3  
3�
.�84�ก  O.94ก;  ก��33ก488+123
6�
+
3  ( x = 3.80)  ก��
B9+7;8<
��	
.9�	+123&�5'�&�
.�	45*ก��
33ก488
6�
+
3�;�&ก�

��
<�&  ( x = 3.73)  +;�
<�2&�,��&
=&�*+&3	7;C
�*.�8��
ก5��  O.94ก;  
ก��?@กA�

1�3=�����ก��+�9��+123ก��
��	
ก��+3
C

3ก+��45*8

�E8  ( x = 3.10)  45*ก��+�)�


1�3=�
�123
6�&�33ก488+123  ( x = 2.90)   
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'����<�2  4.10  4+.�,*4


Q5�2	 +;�

8�2	�
8
&�'�R�
  45*ก��4�5,��&=&�	B3�,*4


,��&,�.
=E
B3�
�ก?@กA�ก5);&'��3	;��<�2&�';3�7�488ก��
��	
�79488:+&:+�
.9�	
ก��
��	
�79�;�&ก�

��
<�&  
�123���
�<�กA*ก��,�.��
,��*=-  C
B��
ก��
��	
�79

1�3=�
8<
��	
  
�123�<�2 2  ��*
K<B3�+123ก��
��	
ก��+3
 45*
�123�<�2 3 =5�กก��
513ก+123
ก��
��	
ก��+3
  
�123�<�2  4  B93.�45*B93�6�ก�.B3�+123ก��
��	
ก��+3
  45*
�123�<�2  5  
��'��<	�<�2
ก�2	�B93�ก�8+123ก��
��	
ก��+3
 

 

��	ก����*
&�
 x  S.D. 
�*.�8 

,��&
=&�*+& 
  1.  ก��
6�
B9�+7;8<
��	
.9�	+123&�5'�&�
.�	8

�E8 3.53 0.68 &�ก 
  2.  ก��?@กA�

1�3=�����ก��+�9��+123ก��
��	
ก��+3

8

�E8 

3.53 0.68 &�ก 

  3.  ก��,9
=�B
�.
,�13B;�	45*(;�	M3
4jk&B93&75 
ก��?@กA�45*��8��&

1�3=�<�2
ก�2	�B93���ก
�E8';�� b 

�123&M	�'�.';3
��2&
'�& 

3.63 0.71 &�ก 

  4.  ก��<6�488]̂ก=�.<9�	8<
��	
M.	ก��+
<
�
3K����	45ก
�5�2	

��	
�79ก�8+&���กK�	C
<�&       8


�E8: chatroom webboard , weblog , facebook  

3.73 0.78 &�ก 

  5.  ก��+�)�

1�3=�
�123
6�&�33ก488+123
6�
+
3 3.31 0.57 ��
ก5�� 
  6.  ก��33ก488+123
6�
+
3 3.80 0.92 &�ก 
  7.  ก�����4:

6�
+
3�;�&ก�

��
<�& 3.03 0.99 ��
ก5�� 

 
 ��ก'����<�2 4.10  ก5);&'��3	;��&�,��&,�.
=E
';3�7�488ก��
��	
�79488:+&:+�
.9�	ก��

��	
�79�;�&ก�

��
<�&  
�123���
�<�กA*ก��,�.��
,��*=- �;�&�,��&
=&�*+&3	7;C
�*.�8&�ก 3
3�
.�84�ก  O.94ก;  ก��33ก488+123
6�
+
3  ( x = 3.80)  ก��<6�488]̂ก=�.<9�	8<
��	
M.	ก��
+
<
�  3K����	  45ก
�5�2	

��	
�79ก�8+&���กK�	C
<�&8

�E8  : chatroom webboard , weblog , 
facebook   ( x = 3.73)   45*ก��,9
8

,�13B;�	45*(;�	M3
4jk&B93&75  ก��?@กA�45*��8��&


1�3=�<�2
ก�2	�B93���ก
�E8';�� b 
�123&M	�  '�.';3  
��2&
'�&  ( x = 3.63)   
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'����<�2  4.11  4+.�,*4


Q5�2	 +;�

8�2	�
8
&�'�R�
  45*ก��4�5,��&=&�	B3�,*4


,��&,�.
=E
B3�
�ก?@กA�ก5);&'��3	;��<�2&�';3�7�488ก��
��	
�79488:+&:+�
.9�	
ก��
��	
�79�;�&ก�

��
<�&  
�123���
�<�กA*ก��,�.��
,��*=-  C
B��
+�)�45*

6�
+
3 

 
��	ก����*
&�
 x  S.D. �*.�8 

,��&
=&�*+& 

  1.  ก��+
<
�  3K����	  45*'38��*
.E
,6�(�&
M.	:79
��	
4';5*<�& 

3.63 0.71 &�ก 

  2.  ก���a�8�'�ก���;�&ก�
+�9��+123
6�
+
3 3.50 0.77 &�ก 
  3.  ก��
6�
+
3:5��
.9�	+123<�24';5*<�&+�9��B@�
 3.73 0.78 &�ก 
  4.  ก��<6�488<.+38=5��
��	
 2.96 0.89 ��
ก5�� 

 
��ก'����<�2 4.11  ก5);&'��3	;��&�,��&,�.
=E
';3�7�488ก��
��	
�79488:+&:+�
.9�	ก��


��	
�79�;�&ก�

��
<�&  
�123���
�<�กA*ก��,�.��
,��*=- �;�&�,��&
=&�*+&3	7;C
�*.�8&�ก 2
3�
.�84�ก  O.94ก;  ก��
6�
+
3:5��
.9�	+123<�24';5*<�&+�9��B@�
  ( x = 3.73)  45*ก��+
<
�
3K����	  45*'38��*
.E
,6�(�&M.	:79
��	
4';5*<�&  ( x = 3.63)  +;�
ก��<6�488<.+38=5��

��	
&�,��&
=&�*+&3	7;C
�*.�8��
ก5��  ( x = 2.96)   
 :5ก����
,��*=-B93&75,��&,�.
=E

ก�2	�ก�8:5B3��7�488ก��
��	
�79488:+&:+�
.9�	
ก��
��	
�79�;�&ก�

��
<�&  
�123���
�<�กA*ก��,�.��
,��*=-  C
+;�
<�2
��
,6�(�&�5�	
�m.  &�.��
�� 
 1.  ��*M	�
-<�2O.9��8��ก�7�488ก��
��	
�79488:+&:+�
.9�	ก��
��	
�79�;�&ก�

��
<�&
C
.9�
';��b 
��
  ก5);&'��3	;��&�,��&
=E
�;�<6�C=9
ก�.,��&ก�*'13�13�9
ก�;�ก��
��	
'�&�ก'� 
45*O.945ก
�5�2	

��	
�79  ,9
,�9���
����ก��ก�8
�123
&�กB@�
  ก��<6���

+�E�
�E�ก�;�<6�
��

��	8),,5  ก��<6���
�;�&ก�
<6�C=9O.9,��&,�.=5�ก=5�	��ก
�123
 b   <6�C=9
B9�C�
�123�ก��,�.
��
,��*=-45*O.9]̂ก,�.��
,��*=-<)ก8<
��	
��ก488]̂ก=�.C
4';5*8< 
 2.  �iF=�3)�+��, C
ก��
��	
�79��ก�7�488ก��
��	
�79488:+&:+�
.9�	ก��
��	
�79
�;�&ก�

��
<�&  O.94ก;  �*88
,�13B;�	3�

'3�-

E''�.B�.89��  +&���ก8��,
	��O&;,)9

,	ก�8ก��

��	
�79488
��  '93�'�.';3+123+��ก�8
�123
45*3����	-:79+3
8;3	B@�
 
 3.  +�2�<�2,�����8��)�C
ก��
��	
�79488:+&:+�
.9�
ก��
��	
�79
��
<�&  O.94ก;  ก��C=98��ก��
�*88
,�13B;�	<�2&�,��&
+(�	�C
&=���<	�5�	�*�;�	C=9ก��
��	
�7�488
��&���*+�<I�K��&�กB@�
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 4.  ,��&�79+@กB3�ก5);&'��3	;��<�2&�';3�7�488ก��
��	
�79488:+&:+�
.9�	ก��
��	
�79
�;�&ก�

��
<�&  O.94ก;  
��
�7�488ก��
��	
�79<�2
=&�*+&ก�8�i��)8�
  �79+@ก.�<�2O.945ก
�5�2	

��	
�79
�;�&ก�
  C=9,��&�;�	
=513ก�
C
ก��,9
,�9�.9�	
,�13B;�	3�

'3�-

E'  
��
ก��
��	
<�2&�,��&=&�	
ก�8:79
��	
 
 5.  B93
+
34
*��กก��
��	
�79.9�	�7�488ก��
��	
�79488:+&:+�
.9�	ก��
��	
�79�;�&ก�


��
<�&  O.94ก;  �*88
,�13B;�	O&;,;3	4
;
3

��
�iF=�C
ก��
�.
�5�
��	
�*=�;��+&���กK�	C
<�&    
+&���กC
<�&8��,
��ก3	7;=;��Oก533กO�4';O&;&�3�

'3�-

E'กE
��
�iF=�
�;
ก�
 
 
 ������ 2  ��ก
��
���
���ก
������
���� ��ก
����!���� ���"��"
����!ก
����!����

�#��ก$���%����  �&'��&$(�
�$ก)�ก
��
��
���
���  4�!�������!��
5 
 

'����<�2  4.12   4+.�,*4


Q5�2	  +;�

8�2	�
8
&�'�R�
  45*ก��4�5,��&=&�	ก����*
&�

�7�488ก��
��	
�79488:+&:+�
  488 
3 O3  
3 (AIA Model) M.	:79
��2	���F 

 

��	ก����*
&�
 x  S.D. 
�*.�8 

,��&
=&�*+& 
ก
��
���
��� - -  
  1.  ก����
,��*=-,)N5�กAN*B3�:79
��	
 3.87 0.64 &�ก 
  2.  ก����
,��*=-��'()��*+�,-ก��
��	
�79 4.00 0.53 &�ก 
  3.  ก����
,��*=-

1�3=�8<
��	
 4.63 0.47 &�ก<�2+). 
  4.  ก����
,��*=-+�2�4�.593&C
ก��
��	
�79488:+&:+�
 4.25 0.88 &�ก 
ก
����!�ก
�"�� - -  
  5.  ก��
��	
ก��+3
8

�E8 4.13 0.83 &�ก 
  6.  ก��
��	
ก��+3
488:+&:+�
 
     6.1  ก��33ก488=
;�	ก��
��	
�79 

- 
4.50 

- 
0.53 

 
&�ก<�2+). 

     6.2  +�2�+
�8+
)
ก��
��	
�79488:+&:+�
 
     6.3  ก��33ก48845*���
�ก��
��	
�79 
     6.4  ก��
6�
+
3ก��33ก48845*���
� 

 6.5  ก��
��	
�79�;�&ก�

��
<�& 
  7.  ก��
��	
ก��+3
C
=93�
��	
�ก'� 

3.50 
4.75 
4.62 
4.13 
4.00 

0.76 
0.46 
0.51 
0.64 
0.53 

&�ก 
&�ก<�2+). 
&�ก<�2+). 

&�ก 
&�ก 
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'����<�2  4.12  (';3) 
 

��	ก����*
&�
 x  S.D. 
�*.�8 

,��&
=&�*+& 

ก
������
��� - -  
  8.  ก����*
&�
:5ก�*8�
ก��
��	
�79 4.37 0.74 &�ก 
  9.  ก����*
&�
<�กA*ก��,�.��
,��*=- 4.75 0.46 &�ก<�2+). 
  10.  ก����*
&�
:53�,-��*ก38B3�ก��ก��& 4.62 0.52 &�ก<�2+). 
ก
�&
"�6��ก
����!�ก
�"�� - -  
  11.  ก����+7�
-ก��
��	
ก��+3
 4.25 0.71 &�ก 

 

 ��ก'����<�2  4.12  :79
��2	���F&�,��&
=E

ก�2	�ก�8�7�488ก��
��	
�79488:+&:+�
 488

3 O3 
3 (AIA Model) �;�<�2,��&
=&�*+&3	7;C
 3  3�
.�84�ก  O.94ก;  ก��33ก48845*���
�ก��

��	
�79 ( x = 4.75)  ก����*
&�
<�กA*ก��,�.��
,��*=- ( x = 4.75)    45*ก����
,��*=-

1�3=�
8<
��	
( x = 4.68)   
 

'����<�2  4.13   4+.�,*4


Q5�2	  +;�

8�2	�
8
&�'�R�
  45*ก��4�5,��&=&�	ก����*
&�

ก��ก��&�7�488ก��
��	
�79488:+&:+�
.9�	ก��
��	
�79�;�&ก�

��
<�&  
�123
���
�ก��,�.��
,��*=-  ,����<�2  1  45*,����<�2  2  B��
ก;3
ก��
��	
ก��+3
M.	
:79
��2	���F 

 

��	ก����*
&�
 x  S.D. 
�*.�8,��&

=&�*+& 

  1.  ก��5�<*
8�	

B9��;�&ก��ก��& / ��8
3ก+�� 4.00 0.00 &�ก 
  2.  ก��<.+38ก;3

��	
 4.75 0.46 &�ก 
  3.  ก���R&
�
<? 4.28 0.88 &�ก 
  4.  ก��<.53�C�9
,�123�&13C
ก��'�.';3+123+�� 4.13 0.83 &�ก 
  5.  ก��48;�ก5);&:79
��	

��
<�&<�&5*  6  ,
 4.50 0.53 &�ก<�2+). 
  6.  ก����.ก��ก��&ก�*8�
ก��ก5);& 4.13 0.83 &�ก 
  7.  ก��+&�,�
B9�C�9M��4ก�& 4.25 0.71 &�ก 
  8.  ก��+
<
�45*3K����	 4.00 0.53 &�ก 
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 ��ก'����<�2  4.13  :79
��2	���F��*
&�
�;�ก��ก��&B3��7�488ก��
��	
�79488:+&:+�

.9�	ก��
��	
�79�;�&ก�

��
<�&B��
ก;3
ก��
��	
ก��+3
<�2&�,��&
=&�*+&3	7;C
  3  3�
.�84�ก  
O.94ก;  ก��<.+38ก;3

��	
  ( x = 4.75)  ก��48;�ก5);&
��
<�&<�&5*  6  ,
  ( x = 4.50)    45*ก��
�R&
�
<?  ( x = 4.28)   
 
'����<�2  4.14  4+.�,*4


Q5�2	 +;�

8�2	�
8
&�'�R�
  45*ก��4�5,��&=&�	B3�,*4



ก����*
&�
M.	:79
��2	���F<�2&�';3ก��ก��&B3��7�488ก��
��	
�79488:+&:+�

.9�	ก��
��	
�79�;�&ก�

��
<�&  
�123���
�<�กA*ก��,�.��
,��*=-  B��
ก��
��	
ก��
+3
 
�123�<�2 1  ,��&=&�	  ,)N+&8�'�  ,)N,;�B3�+123ก��
��	
ก��+3
 

 

��	ก����*
&�
 x  S.D. 
�*.�8 

,��&
=&�*+& 
  1.  ก��
B9�+7;8<
��	
.9�	+123&�5'�&�
.�	C
=93�
��	
�ก'�
45*8

�E8 

3.50 0.53 &�ก 

  2.  ก��?@กA�

1�3=�����ก��+�9��+123ก��
��	
ก��+3
C


3ก+��45*8

�E8 

3.25 0.46 ��
ก5�� 

  3.  ก��,9
=�8

,�13B;�	45*(;�	M3
4jk&B93&75M.	
ก��?@กA�45*��&��8

1�3=�<�2
ก�2	�B93���ก
�E8';�� b 45*

�123&M	� '�.';3 
��2&
'�& 

3.88 0.35 &�ก 

  4.   ก��<6�488]̂ก=�.<9�	8<
��	
M.	ก��+
<
� 
3K����	 45ก
�5�2 	

��	
�79ก�8+&���กK�	C
<�&C

=93�
��	
�ก'�45*8

�E8 : chatroom webboard , weblog , 
facebook 

4.62 0.52 &�ก<�2+). 

  5.  ก��+�)�

1�3=�
�123
6�&�33ก488+123ก��
6�
+
3 3.50 0.76 ��
ก5�� 
  6.  ก��33ก488+123
6�
+
3 4.25 0.71 &�ก 
  7.  ก�����4:

6�
+
3�;�&ก�

��
<�&   4.00 0.53 &�ก 
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 ��ก'����<�2 4.14  :79
��2	���F��*
&�
�;�ก��ก��&B3��7�488ก��
��	
�79488:+&:+�

.9�	ก��
��	
�79�;�&ก�

��
<�&  B��
ก��
��	
ก��+3

�123�<�2  1  <�2&�,��&
=&�*+&3	7;C
  3  3�
.�8
4�ก  O.94ก;  ก��<6�488]̂ก=�.<9�	8<
��	
M.	ก��+
<
�  3K����	45ก
�5�2	

��	
�79ก�8+&���ก
K�	C
<�&C
=93�
��	
�ก'�45*8

�E8  ( x = 4.62)  ก��33ก488+123
6�
+
3  ( x = 4.25)  45*ก��
���4:

6�
+
3�;�&ก�

��
<�&  ( x = 4.00) 
 
'����<�2  4.15  4+.�,*4


Q5�2	 +;�

8�2	�
8
&�'�R�
  45*ก��4�5,��&=&�	B3�,*4



ก����*
&�
M.	:79
��2	���F<�2&�';3ก��ก��&B3��7�488ก��
��	
�79488:+&:+�

.9�	ก��
��	
�79�;�&ก�

��
<�&  
�123���
�<�กA*ก��,�.��
,��*=-  C
B��
ก��
��	
�79


1�3=�8<
��	
  
�123�<�2 2  ��*
K<B3�+123ก��
��	
ก��+3
 45*
�123�<�2 3 =5�กก��

513ก+123ก��
��	
ก��+3
  
�123�<�2  4  B93.�45*B93�6�ก�.B3�+123ก��
��	
ก��+3
  45*

�123�<�2  5  ��'��<	�<�2
ก�2	�B93�ก�8+123ก��
��	
ก��+3
 

 

��	ก����*
&�
 x  S.D. 
�*.�8 

,��&
=&�*+& 
  1.  ก��
6�
B9�+7;8<
��	
.9�	+123&�5'�&�
.�	8

�E8 3.53 0.68 &�ก 
  2.  ก��?@กA�

1�3=�����ก��+�9��+123ก��
��	
ก��+3

8

�E8 

3.87 0.64 &�ก 

  3.  ก��,9
=�8

,�13B;�	45*(;�	M3
4jk&B93&75 
ก��?@กA�45*��8��&

1�3=�<�2 
ก�2	�B93���ก
�E8';�� b 

�123&M	�'�.';3
��2&
'�& 

3.50 0.76 &�ก 

  4.  ก��<6�488]̂ก=�.<9�	8<
��	
M.	ก��+
<
�
3K����	45ก
�5�2	

��	
�79ก�8+&���กK�	C
<�&       8


�E8: chatroom webboard , weblog , facebook  

4.13 0.64 &�ก 

  5.  ก��+�)�

1�3=�
�123
6�&�33ก488+123
6�
+
3 4.50 0.53 &�ก<�2+). 
  6.  ก��33ก488+123
6�
+
3 3.50 0.76 &�ก 
  7.  ก�����4:

6�
+
3�;�&ก�

��
<�& 3.03 0.99 ��
ก5�� 
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 ��ก'����<�2 4.15  :79
��2	���F��*
&�
�;�ก��ก��&B3��7�488ก��
��	
�79488:+&:+�

.9�	ก��
��	
�79�;�&ก�

��
<�&  
�123�<�2  2  (@�
�123�<�2  5  <�2&�,��&
=&�*+&3	7;C
  3  3�
.�84�ก  
O.94ก;  ก��+�)�

1�3=�
�123
6�&�33ก488+123
6�
+
3  ( x = 4.50)  ก��<6�488]̂ก=�.<9�	8<
��	

M.	ก��+
<
�3K����	45ก
�5�2	

��	
�79ก�8+&���กK�	C
<�&  ( x = 4.13)   45*ก��?@กA�

1�3=�
����ก��+�9��+123ก��
��	
ก��+3
8

�E8  ( x = 3.87)   
 
'����<�2  4.16  4+.�,*4


Q5�2	 +;�

8�2	�
8
&�'�R�
  45*ก��4�5,��&=&�	B3�,*4



ก����*
&�
M.	:79
��2	���F<�2&�';3ก��ก��&B3��7�488ก��
��	
�79488:+&:+�

.9�	ก��
��	
�79�;�&ก�

��
<�&  
�123���
�<�กA*ก��,�.��
,��*=-  C
B��
+�)�45*

6�
+
3 

 

��	ก����*
&�
 x  S.D. 
�*.�8 

,��&
=&�*+& 
  1.  ก��+
<
�  3K����	  45*'38��*
.E
,6�(�&M.	:79
��	

4';5*<�& 

4.00 0.00 &�ก 

  2.  ก���a�8�'�ก���;�&ก�
+�9��+123
6�
+
3 3.50 0.77 &�ก 
  3.  ก��
6�
+
3:5��
.9�	+123<�24';5*<�&+�9��B@�
 3.88 0.35 &�ก 
  4.  ก��<6�488<.+38=5��
��	
 4.75 0.46 &�ก<�2+). 

 
��ก'����<�2 4.16  :79
��2	���F��*
&�
�;�ก��ก��&B3��7�488ก��
��	
�79488:+&:+�


.9�	ก��
��	
�79�;�&ก�

��
<�&  B��
+�)�45*
6�
+
3<�2&�,��&
=&�*+&3	7;C
  3  3�
.�84�ก  O.94ก;  
ก��<6�488<.+38=5��
��	
  ( x = 4.75)  ก��+
<
�  3K����	45*'38��*
.E
,6�(�&M.	:79
��	

4';5*<�&  ( x = 4.00)  45*ก��
6�
+
3:5��
.9�	+123<�24';5*<�&+�9��B@�
  ( x = 3.88)   
  
 ������ 3  ก
������
��� ���$������� ��ก
����!���� ���"��"
����!ก
����!����

�#��ก$���%����  �&'��&$(�
�$ก)�ก
��
��
���
��� 4�!�������78�7(
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'����<�2  4.17  4+.�,*4


Q5�2	  +;�

8�2	�
8
&�'�R�
  45*ก��4�5,��&=&�	ก����*
&�

ก��ก��&ก��
��	
�79�7�488ก��
��	
�79488:+&:+�
.9�	ก��
��	
�79�;�&ก�

��
<�&  

�123���
�<�กA*ก��,�.��
,��*=-  M.	:79<��,)N�)�� 

 

��	ก����*
&�
 x  S.D. 
�*.�8,��&

=&�*+& 

ก
��
���
��� - -  
  1.  ก����
,��*=-,)N5�กAN*B3�:79
��	
 4.66 0.57 &�ก<�2+). 
  2.  ก����
,��*=-��'()��*+�,-ก��
��	
�79 4.66 0.57 &�ก<�2+). 
  3.  ก����
,��*=-

1�3=�8<
��	
 5.00 0.00 &�ก<�2+). 
  4.  ก����
,��*=-+�2�4�.593&C
ก��
��	
�79488:+&:+�
 4.66 0.57 &�ก<�2+). 
ก
����!�ก
�"�� - -  
  5.  ก��
��	
ก��+3
8

�E8 4.00 0.00 &�ก 
  6.  ก��
��	
ก��+3
488:+&:+�
 
       6.1  ก��33ก488=
;�	ก��
��	
�79 

 
3.66 

 
0.57 

 
&�ก 

       6.2  +�2�+
�8+
)
ก��
��	
�79488:+&:+�
 
       6.3  ก��33ก48845*���
�ก��
��	
�79 
       6.4  ก��
6�
+
3ก��33ก48845*���
� 
       6.5  ก��
��	
�79�;�&ก�

��
<�& 

3.00 
3.66 
4.00 
4.00 

0.00 
1.15 
1.00 
0.00 

&�ก 
&�ก 
&�ก 
&�ก 

  7.  ก��
��	
ก��+3
C
=93�
��	
�ก'� 5.00 0.00 &�ก<�2+). 
ก
������
��� - -  
  8.  ก����*
&�
:5ก�*8�
ก��
��	
�79 3.66 0.57 &�ก 
  9.  ก����*
&�
<�กA*ก��,�.��
,��*=- 4.33 0.57 &�ก 
  10.  ก����*
&�
:53�,-��*ก38B3�ก��ก��& 4.33 1.15 &�ก 
ก
�&
"�6��ก
����!�ก
�"�� - -  
11.  ก����+7�
-ก��
��	
ก��+3
 4.66 0.57 &�ก<�2+). 
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 ��ก'����<�2  4.17  :79<��,)N�)��&�,��&
=E

ก�2	�ก�8�7�488ก��
��	
�79488:+&:+�
 488

3 O3 
3 (AIA Model) �;�<�2&�,��&
=&�*+&3	7;C
�*.�8&�ก<�2+).  3  3�
.�84�ก  O.94ก;  ก��
33ก48845*���
�ก��
��	
�79  ( x = 4.75)  ก����*
&�
<�กA*ก��,�.��
,��*=- ( x = 4.75)  45*ก��
��
,��*=-

1�3=�8<
��	
  ( x = 4.68)   
 
'����<�2  4.18  4+.�,*4


Q5�2	  +;�

8�2	�
8
&�'�R�
  45*ก��4�5,��&=&�	ก����*
&�


ก��ก��&�7�488ก��
��	
�79488:+&:+�
.9�	ก��
��	
�79�;�&ก�

��
<�&  
�123
���
�ก��,�.��
,��*=-  ,����<�2  1  45*,����<�2  2  B��
ก;3
ก��
��	
ก��+3
  M.	
:79<��,)N�)�� 

 

��	ก����*
&�
 x  S.D. 
�*.�8,��&

=&�*+& 

  1.  ก��5�<*
8�	

B9��;�&ก��ก��& / ��8
3ก+�� 4.33 0.57 &�ก 
  2.  ก��<.+38ก;3

��	
 5.00 0.00 &�ก<�2+). 
  3.  ก���R&
�
<? 4.66 0.57 &�ก<�2+). 
  4.  ก��<.53�C�9
,�123�&13C
ก��'�.';3+123+�� 4.00 1.00 &�ก 
  5.  ก��48;�ก5);&:79
��	

��
<�&<�&5*  6  ,
 4.66 0.57 &�ก<�2+). 
  6.  ก����.ก��ก��&ก�*8�
ก��ก5);& 4.00 1.00 &�ก 
  7.  ก��+&�,�
B9�C�9M��4ก�& 4.00 1.00 &�ก 
  8.  ก��+
<
�45*3K����	 4.00 1.00 &�ก 

 
 ��ก'����<�2  4.18  :79<��,)N�)����*
&�
ก��ก��&B3��7�488ก��
��	
�79488:+&:+�

.9�	ก��
��	
�79�;�&ก�

��
<�&
�123���
�ก��,�.��
,��*=-  ,����<�2  1  45*,����<�2  2  B��
ก;3
ก��
��	

ก��+3
<�2&�,��&
=&�*+&&�ก<�2+).  3  3�
.�84�ก  O.94ก;  ก��<.+38ก;3

��	
  ( x = 5.00)  ก��
�R&
�
<?  ( x = 4.66)  45*ก��48;�ก5);&:79
��	

��
<�&<�&5*  6  ,
  ( x = 4.66)   
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'����<�2  4.19   4+.�,*4


Q5�2	 +;�

8�2	�
8
&�'�R�
  45*ก��4�5,��&=&�	B3�,*4


ก����*
&�
M.	:79<��,)N�)��<�2&�';3�7�488ก��
��	
�79488:+&:+�
.9�	ก��
��	
�79
�;�&ก�

��
<�&  
�123���
�<�กA*ก��,�.��
,��*=-  B��
ก��
��	
ก��+3
 
�123�<�2 1  
,��&=&�	  ,)N+&8�'�  ,)N,;�B3�+123ก��
��	
ก��+3
 

 

��	ก����*
&�
 x  S.D. 
�*.�8 

,��&
=&�*+& 
  1.  ก��
B9�+7;8<
��	
.9�	+123&�5'�&�
.�	C
=93�
��	
�ก'�
45*8

�E8 

4.33 0.57 &�ก 

  2.  ก��?@กA�

1�3=�����ก��+�9��+123ก��
��	
ก��+3
C


3ก+��45*8

�E8 

3.33 0.57 &�ก 

  3.  ก��,9
=�8

,�13B;�	45*(;�	M3
4jk&B93&75M.	
ก��?@กA�45*��&��8

1�3=�<�2
ก�2	�B93���ก
�E8';�� b 45*

�123&M	� '�.';3 
��2&
'�& 

3.66 0.57 &�ก 

  4.   ก��<6�488]̂ก=�.<9�	8<
��	
M.	ก��+
<
� 
3K����	 45ก
�5�2 	

��	
�79ก�8+&���กK�	C
<�&C

=93�
��	
�ก'�45*8

�E8 : chatroom webboard , weblog , 
facebook 

4.66 0.57 &�ก<�2+). 

  5.  ก��+�)�

1�3=�
�123
6�&�33ก488+123ก��
6�
+
3 3.66 0.57 &�ก 
  6.  ก��33ก488+123
6�
+
3 4.00 1.00 &�ก 
  7.  ก�����4:

6�
+
3�;�&ก�

��
<�&   3.00 0.00 ��
ก5�� 

 
 ��ก'����<�2 4.19  :79<��,)N�)����*
&�
�7�488ก��
��	
�79488:+&:+�
.9�	ก��
��	
�79
�;�&ก�

��
<�&  
�123���
�<�กA*ก��,�.��
,��*=-�;�&�,��&
=&�*+&3	7;C
�*.�8&�ก<�2+).45*&�ก  
3  3�
.�84�ก  O.94ก;  ก��<6�488]̂ก=�.<9�	8<
��	
M.	ก��+
<
�  3K����	  45ก
�5�2	

��	
�79
ก�8+&���กK�	C
<�&C
=93�
��	
�ก'�45*8

�E8  ( x = 4.66)  ก��
B9�+7;8<
��	
.9�	+123&�5'�&�
.�	C

=93�
��	
�ก'�45*8

�E8  ( x = 4.33)  45*ก��33ก488+123
6�
+
3  ( x = 4.00)   
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'����<�2  4.20  4+.�,*4


Q5�2	 +;�

8�2	�
8
&�'�R�
  45*ก��4�5,��&=&�	B3�,*4



ก����*
&�
M.	:79<��,)N�)��<�2&�';3�7�488ก��
��	
�79488:+&:+�
.9�	ก��
��	
�79
�;�&ก�

��
<�&  
�123���
�<�กA*ก��,�.��
,��*=-  C
B��
ก��
��	
�79

1�3=�8<
��	
  

�123�<�2 2  ��*
K<B3�+123ก��
��	
ก��+3
 45*
�123�<�2 3 =5�กก��
513ก+123ก��
��	

ก��+3
  
�123�<�2  4  B93.�45*B93�6�ก�.B3�+123ก��
��	
ก��+3
  45*
�123�<�2  5  ��'��<	�
<�2
ก�2	�B93�ก�8+123ก��
��	
ก��+3
 

 

��	ก����*
&�
 x  S.D. 
�*.�8 

,��&
=&�*+& 
  1.  ก��
6�
B9�+7;8<
��	
.9�	+123&�5'�&�
.�	8

�E8    
  2.  ก��?@กA�

1�3=�����ก��+�9��+123ก��
��	
ก��+3
8

�E8 3.66 0.57 &�ก 
  3.  ก��,9
=�8

,�13B;�	45*(;�	M3
4jk&B93&75 ก��?@กA�
45*��8��&

1�3=�<�2
ก�2	�B93���ก
�E8';�� b 
�123&M	�'�.';3

��2&
'�& 

3.66 0.57 &�ก 

  4.  ก��<6�488]̂ก=�.<9�	8<
��	
M.	ก��+
<
�3K����	
45ก
�5�2	

��	
�79ก�8+&���กK�	C
<�&8

�E8: chatroom 
webboard , weblog , facebook  

4.33 0.57 &�ก 

  5.  ก��+�)�

1�3=�
�123
6�&�33ก488+123
6�
+
3 4.00 1.00 &�ก 
  6.  ก��33ก488+123
6�
+
3 4.66 0.57 &�ก<�2+). 
  7.  ก�����4:

6�
+
3�;�&ก�

��
<�& 3.00 0.00 ��
ก5�� 

 
 ��ก'����<�2 4.20  :79<��,)N�)����*
&�
ก��ก��&B3��7�488ก��
��	
�79488:+&:+�
.9�	
ก��
��	
�79�;�&ก�

��
<�&  
�123���
�<�กA*ก��,�.��
,��*=- �;�&�,��&
=&�*+&3	7;C
�*.�8&�ก
<�2+).  45*&�ก  3  3�
.�84�ก  O.94ก;  ก��33ก488+123
6�
+
3  ( x = 4.66)  ก��<6�488]̂ก=�.<9�	
8<
��	
M.	ก��+
<
�  3K����	  45ก
�5�2	

��	
�79ก�8+&���กK�	C
<�&8

�E8  : chatroom 
webboard , weblog , facebook   ( x = 4.33)   45*ก��,9
8

,�13B;�	45*(;�	M3
4jk&B93&75  
ก��?@กA�45*��8��&

1�3=�<�2
ก�2	�B93���ก
�E8';�� b 
�123&M	�  '�.';3  
��2&
'�& 45*ก��?@กA�


1�3=�����ก��+�9��+123ก��
��	
ก��+3
8

�E8  ( x = 3.66)   
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'����<�2  4.21  4+.�,*4


Q5�2	 +;�

8�2	�
8
&�'�R�
  45*ก��4�5,��&=&�	B3�,*4


ก����*
&�
M.	:79<��,)N�)��<�2&�';3ก��ก��&�7�488ก��
��	
�79488:+&:+�
.9�	
ก��
��	
�79�;�&ก�

��
<�&  
�123���
�<�กA*ก��,�.��
,��*=-  C
B��
+�)�45*
6�
+
3 

 

��	ก����*
&�
 x  S.D. 
�*.�8 

,��&
=&�*+& 
  1.  ก��+
<
�  3K����	  45*'38��*
.E
,6�(�&
M.	:79
��	
4';5*<�& 

4.33 0.57 &�ก 

  2.  ก���a�8�'�ก���;�&ก�
+�9��+123
6�
+
3 4.33 0.57 &�ก 
  3.  ก��
6�
+
3:5��
.9�	+123<�24';5*<�&+�9��B@�
 3.66 0.57 &�ก 
  4.  ก��<6�488<.+38=5��
��	
 4.66 0.57 ��
ก5�� 

 
��ก'����<�2 4.21  :79<��,)N�)����*
&�
ก��ก��&B3��7�488ก��
��	
�79488:+&:+�
.9�	

ก��
��	
�79�;�&ก�

��
<�&  
�123���
�<�กA*ก��,�.��
,��*=- �;�&�,��&
=&�*+& 3  3�
.�84�ก  
O.94ก;  ก��<6�488<.+38=5��
��	
  ( x = 4.66)  ก��+
<
�  3K����	  45*'38��*
.E
,6�(�&
M.	:79
��	
4';5*<�&  ( x = 4.33)  45*ก���a�8�'�ก���;�&ก�
+�9��+123
6�
+
3   ( x = 4.33)   
  

 


